The group G is isomorphic to the group labelled by [ 32, 21 | in the Small Groups library.

Ordinary character table of G = C4 x C4 x C2:

la 4a 2a 4b 4c 4d de 4f 2b 4g 2c 4h 43 43 4k 41 2d 4m 2e in 4o 4p 4q 4r 2f 4s 2g 4t 4y 4v 4w 4z
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 —1 1 -1 1 -1 1 -1 1 -1
X3 1 1 1 1 -1 -1 -1 -1 1 1 1 1 -1 —1 —1 —1 1 1 1 1 -1 -1 -1 -1 1 1 1 1 —1 -1 -1 -1
X4 1 -1 1 —1 -1 1 -1 1 1 —1 1 -1 —1 1 —1 1 1 -1 1 -1 -1 1 -1 1 1 -1 1 —1 -1 1 -1 1
X5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1
X6 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1
X7 1 1 1 1 -1 -1 -1 -1 1 1 1 1 —1 -1 -1 -1 -1 —1 -1 -1 1 1 1 1 -1 -1 -1 -1 1 1 1 1
X8 1 -1 1 -1 -1 1 -1 1 1 -1 1 -1 -1 1 —1 1 —1 1 -1 1 1 -1 1 —1 -1 1 -1 1 1 -1 1 -1
xo |1 E@4) -1 —EM4) 1 E@4) -1 —E4 1 E@4) -1 —-E@4) 1 E@4) -1 -E@4) 1 E@4) -1 —-E4) 1 E4 -1 —E4) 1 Ed4 -1 —E@4) 1 E4) -1 —E@4)
Xo|1l —BE@4) -1 EBE@4) 1 —-E@4) -1 E4) 1 -B@4) -1 E4) 1 —E@) -1 E4) 1 —EW4) -1 E4) 1 —Ed4 -1 EA) 1 -E4) -1 E@A) 1 —E@4) -1 E@4)
xul|l E@) -1 —B(4) -1 -E@4) 1 E4 1 E@4) -1 —-E@4) -1 -E@) 1 E4) 1 E@4) -1 -E@4) -1 -E4 1 E4) 1 E4 -1 —BA) -1 -E@4) 1  E@4)
Yie| 1 —E(4) -1 E@) -1 E@4) 1 -E@4) 1 -E&4) -1 E4) -1 E4 1 -E4 1 -BE@) -1 EBE@4) -1 EBE@) 1 -B@) 1 -E@& -1 E@#) -1 E4 1 -E@&
|1 E@4) -1 —-E@4) 1 E@4) -1 -E@4) 1 E@4 -1 -E@) 1 E4) -1 -E4) -1 -E@) 1 E@4) -1 -BE@4 1 E@4) -1 -E4 1 E#4) -1 -E@#) 1 E@&
Xxu|l -E@) -1 E@) 1 -B(4) -1 E@4 1 -BE4) -1 B4 1 -E@4) -1 E@4) -1 E@4) 1 -EBE#) -1 B4 1 -E@4) -1 E#) 1 -E4 -1 B4 1 —E4)
xis| 1 E@) -1 —B(4) -1 -E@4) 1 E@4) 1 E@4) -1 —-E@4) -1 —E4) 1 E4) -1 -E@) 1 E4 1 E4) -1 —EA) -1 —-E4 1 E@4) 1  E4) -1 —E@4)
6|1 —BE@) -1 E@4) -1 E4) 1 -E4 1 -B@4) -1 E4) -1 EM4) 1 -BE@4) -1 E@) 1 -E4) 1 -Ed4) -1 E4) -1 E4 1 -E@A) 1 -E@4) -1 E@4)
xw|1 1 1 1 E4) E@4 E4 E4 -1 -1 -1 -1 —E@4) -E@4) -E4) -E4 1 1 1 1 E@4) E@4) E@4) E4) -1 -1 -1 -1 —E@4) —E@4) —E@4) —E@4)
vis|1 -1 1 -1 E@4) -E@) E@4) -E4) -1 1 -1 1 -E4) E@4) -E@) EE4 1 -1 1 -1 E4 -E@4 E@4 -E@) -1 1 -1 1 -E@4 E@ -E4) E@)
Xo|l1 1 1 1 —E@#) -BE@4) -E4) —-E4 -1 -1 -1 -1 E@4) E#) E4) E4 1 1 1 1 -BE@4) —-E4) -E@4) -E@#) -1 -1 -1 -1 EBE@4) E@4) E4) E@4)
Xxoo|1 -1 1 -1 —Ed4) EA4) -E4) E4 -1 1 -1 1 E4) -E4) EWA -E@4 1 -1 1 -1 —E@4) E@A -E4) E4) -1 1 -1 1 EWA -EA) E@4) -EW4)
2|1 1 1 1 EW4 E4) EM4) E4 -1 -1 -1 -1 —E@4) —-E@4) -E4) -E@4) -1 -1 -1 -1 —E@4) -Ed4) -BE@4) -E@®) 1 1 1 1 Ed4 EA4) E@4 E@4)
Xxe2|1 -1 1 -1 E@4) -E4) E(4) -E4 -1 1 -1 1 -E@4) E@4) -E4 E4) -1 1 -1 1 —E@4) E4) -E4) E4) 1 -1 1 -1 E@4) -EA4) E#4) -E@4)
ws|1 1 1 1  —E@d) —E@) —-E@) —E@) -1 -1 -1 -1 E@4) E@4) E@4) E4) -1 -1 -1 -1 E4) E4) E4) E4 1 1 1 1 —BE@4) —E@4) —E(4) —E(4)
|1 -1 1 -1 —E@#) E4) -E4) E4 -1 1 -1 1 E@4 -E4) EA -E4 -1 1 -1 1 E4) -E4 EA) -E® 1 -1 1 -1 —E@A) E@) -E@4) E@4)
Xos| 1 E(4) -1 —E@) EBE(4) -1 -E@4) 1 -1 -E@4) 1 BE@4) -E4) 1 B4 -1 1 E@4) -1 —-BE@#) E@4) -1 -E4 1 -1 —-E@4) 1 EH4 -E4 1  Ed4) -1
X |1 —E@4) -1 E@4) EW®) 1 —E4) -1 -1 E@4) 1 -EW4) -E4) -1 E4 1 1 —EWA) -1 EA4) EA 1 -BE@4) -1 -1 Ed4 1 —E@A) —E4 -1 E@4) 1
xor | 1 E@) -1 —E@) -E@4) 1 E@4 -1 -1 -E@4) 1 E@4) E4) -1 -E4 1 1 E@4) -1 —-E@4) —-E@4) 1 E4) -1 -1 —-E@4 1 E@) E@4) -1 —E@4) 1
Y| 1 —E@) -1 E@4) —E@4) -1 E@4) 1 -1 E@4) 1 -E@4) E@4) 1 —B@#) -1 1 -BE@{) -1 E@4) -E4) -1 E4 1 -1 E4) 1 -E@4) E4 1 —E4) -1
Yoo | 1 E@) -1 —E@4) E@4) -1 -E@4 1 -1 -E@4) 1 E@4) -E@4 1 E4) -1 -1 -E@) 1 E4 -E# 1 E4 -1 1 E4 -1 —-E@4) EE4) -1 -EBE4) 1
Xso| 1 —E@) -1 E@®) E(4) 1 -E@4) -1 -1 E@4) 1 -E@4) —-BE4) -1 E@4) 1 -1 E@4) 1 -E@#) -BE4) -1 E4 1 1 -Ed4) -1 E@4 E® 1 -B@4) -1
Yo | 1 E@) -1 —E@) —-E(4) 1  E@4) -1 -1 —E@4) 1 E@4) E@#) -1 —BE@) 1 -1 —-E@) 1 E@4 E4) -1 -E& 1 1 E@4) -1 —-E@4) —-E@& 1  E@#) -1
X2 |1 —E@) -1 E@4) -E4) -1 E4) 1 -1 E@4) 1 -E4) E4 1 -E4 -1 -1 EA) 1 -E4) E4) 1 -BE@4) -1 1 -E4) -1 E@4) -E4) -1 E@4) 1
Trivial source character table of G = C4 x C4 x C2 at p = 2:
Normalisers IV; N1y | No | N3 | Ny | N5 | Ng | N7| Ng| Nog| Nig| Nip | Nia | N1z | N1a | Nis | Nig | N17 | N1g | N1g | Nog | Noy | Nog | Noz | Nog | Nas | Nog | Noy | Nog | Nag | N3g | N31 | N3o | N33 | N3g | N3s | N3g | N3z | N3g | N3g | Nao | Na1 | Naz | Nag | Naa | Nus | Nag | Naz | Nag | Nag | Nso | Ns1 | Nsa | Ns3 | Nsa
p-subgroups of G up to conjugacy in G P | P | P3| Py | Ps | Ps | Pr | R | Po | Pio|Pii | Proa| Pig| Pra| Pris | Pris | Pro| Pris | Pro| Pao | Por | Poa | Pog | Pog | Pos | Pag | Por | Pog | Pag | P3o | P31 | Paa | Pag | Paq | P35 | Psg | Par | P3g | Pag | Pao | Pur | Pao | Pas | Pag | Pus | Pas | Par | Pus | Pao | Pso | Ps1 | Psa | P53 | Psa
Representatives n; € N; la | la | la|la |1la|la |1la|la |1la| la | la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | la | la | la | la | la la la la la la la la la la la la la la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | la | la | la
l-xya+1-xo+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xg+1-xo+1-x0+1-x11+1-x12+1-x13+1-xa+1-x5+1-x6+1-x17+1-xis+1-x19+1-x0+1-xo1+1-xo2+1-xo3+1-xoa+1-xo5+1-x26+1-Xxor+1-x8+1-X9+1-x30+1-x31+1-x32(32| 0|0} 0] 0] O0]0|O0]|O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-xo+1-x3+1-xa+1-x5+1-x6+1-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-x14+0-x15+0-x16+1-x17+1-x18+1-Xx19+1-x20+1-xo1+1-Xxo2+1-x23+1-Xx24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32 16|16 | 0 | 0| 0| 0| 0| 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-x14+1-x24+1-x34+1-xa+1-xs+1-x6+1-x7+1-xs+0-x0+0-Xx10+0-x11+0-x124+0-x13+0-x14+0-Xx15+0-x16+0-x174+0-x18+0-x19+0-x20+0-x21 +0-x220+0-x23+0-x24a+1 -x25+1-x26+1-x2r+1-x28+1-Xx90+1-x30+1-Xx31+1-x32|16| 0 |16 | O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-xo+1-x3+1-xa+1-xs5+1-x6+1-xr+1-xs+1-xo+1-x10+1-x11+1-x2+1-x3+1-xa+1-x15+1-Xx16+0-Xx17+0-x18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32 |16 | 0 | 0 | 16| 0| 0| 0] 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xyi+1-x2+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+1-x13+1-x1a+1-x5+1-x6+1-x17+1-xi8+1-x19+1-x20+0-x21+0-x22+0-x23+0-%24+0-x25+0-x26+0-x27+0-x28+1-Xx9+1-x30+1-x31+1-x32 16| 0| 0| 0 |16] 0] 0| 0| O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo4+1-x3+1-xa+0-x5+0-x6+0-x7+0-xg+1-x9+1-x10+1-x11+1-x12+0-Xx13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+1-xo1 +1-xo2+1-x23+1-Xx24+0-x25+0-x26+0-x27+0-x28+1-x29+1-Xx30+1-x31+1-x32|16| 0 | 0| 0| 0|16 0| 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi+1-x2+1-x3+1-x4a+0-x5+0-x6+0-x7+0-xg+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14a+0-x15+0-x16+1-x17+1-x18+1-x19+1-x20+0-x21+0-x22+0-x23+0-x2a+1-x25+1-x26+1-xor+1-x28+0-X29+0-x30+0-x31+0-x32| 16| 0 0 0 0 0 |116| O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi1+1-x2+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-xX9+0-x10+0-x11+0-x12+1-x3+1-x1a+1-x15+1-Xx16+0-X17+0-x18+0-x190+0-x20+1-Xx21+1-x22+1-x23+1-x2a+1-Xxo5+1-Xx26+1 Xx2r+1-x28+0-x29+0-x30+0-x31+0-x32|16 | 0 | 0 | 0O | 0| 0| O0]16] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+0-xs+1-x6+1-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21+0-x220+0-x23+0-x24+0-x25+1-x26+1-Xxo7r+0-x28+1-X29+0-x30+0-x31+1-x32| 8 0 | 8 O] 0|0 O0]O0]|S8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x204+0-x3+0-xa+1-x5+1-x6+0-x7+0-x8+1-x90+1-X10+0-x11+0-x12+1-x13+1-Xx14a+0-x15+0-Xx16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-xX30+0-x31+0-x32| 8| 0|0 | 8|0 |0]0]|0]O0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+1-x5+1-x6+0-x7+0-x8+0-x9+0-x10+1-x11+1-x12+0-Xx13+0-x14a+1-x15+1-X16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32| 8| 0|0 | 8|0 |0]|]0]|0]O0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-xo+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-x16+0-x17+1-x18+0-x19+1-x20+0-x21 +1-Xxo2+0-x23+1-Xx24+0-x25+0-x26+0-x27+0-x28+0-x29+0-xX30+0-x31+0-x32| 8| 8| 0] 0|0 |0]|]0]|0]O0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+1-x5+0-x6+0-x7+1-x8+0-xo0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-Xx23+0-%24+0-x25+1-x26+1-x27+0-x28+0-Xx29+1-x30+1-Xx31+0-x32| 8| 0| 8| 0] 0] 0]0|0]|O0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+1-x5+0-x6+0-x7+1-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-X14+0-x15+0-Xx16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+1-x25+0-x26+0-x27+1-xo8+1-x29+0-x30+0-x31+1-x32| 8| 0| 8] 0|0 |0]|]0]|0]O0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4a+0-x5+0-x¢6+1-x7+1-xg+1-x9+1-Xx10+0-x11+0-x12+0-Xx13+0-x14+1-x15+1-X16+0-x17+0-x18+0-X190+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32| 8| 0|0 | 8|0 |0]|]0]|0]O0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xa+1-xo+1-xa+1-xa+1-xs5+1-x6+1-x7+1-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-Xx16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-xX30+0-x31+0-x32| 8 | 8| 8| 8|0 |0]|]0]|0]O0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+1-Xx19+0-x20+1-Xx21+0-x22+1-X23+0-x24+0-x25+0-%26+0-x27+0-x28+0-X29+0-x30+0-Xx31+0-x32| 8| 8| 0|0} 0]0/]0| 0|0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+0-x5+1-x6+1-x7+0-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+1-x25+0-x26+0-x27+1-x28+0-x29+1-x30+1-x31+0-x32| 8| 0| 8] 0|0 |0]|]0]|0]O0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo+1-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-X13+0-x14+0-x15+0-X16+0-x17+0-x18+0-X190+0-x20+0-x21 +0-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+1-x290+1-x30+1-x31+1-x32| 8|0 |8 ] 0|8 |8| 0|00 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+0-xs+1-x6+0-x7+1-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-x19+1-x20+1-x21+0-x22+1-x23+0-%24+0-x25+0-%26+0-x27+0-x28+0-X29+0-x30+0-x31+0-x32| 8 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+1-x3+1-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+1-x3+1-x1a+1-x15+1-x16+0-Xx17+0-x18+0-Xx19+0-Xx20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32| 8 | 0 ] 0| 8| 8| 0| 0] 8]0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xyi1+1-x2+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+1-x18+1-x19+1-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-%26+0-x27+0-x28+0-X29+0-x30+0-x31+0-x32| 8 8 0 0 8 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo4+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+1-xo1 +1-xo2+1-x23+1-Xx24+0-x254+0-x26+0-x27+0-x284+0-x29+0-Xx30+0-x31+0-x32| 8 810|008 0| 8]0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x24+1-x34+1-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x174+0-x18+0-x19+0-x20+0-x21 +0-Xx220+0-x23+0-x24a+1 -x25+1-x26+1-x2r+1-x28+0-Xx290+0-x30+0-x31+0-x32| 8 0 8 0 0 0 8 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x204+0-x3+0-xa+0-x5+0-x6+1-x7+1-x8+0-x9+0-x10+1-x11+1-x12+1-x13+1-Xx14a+0-x15+0-Xx16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-xX30+0-x31+0-x32| 8| 0|0 | 8|0 |0]0]|0]O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-x1+1-xo+1-x3+1-x4a+0-x54+0-x6+0-x7+0-xs+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-Xx15+0-Xx16+0-Xx17+0-x18+0-x19+0-Xx20+0-X21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32| 8 | 0 | 0| 8| 0|8 |8|] 0] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+0-x5+1-x6+0-x7+1-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+1-Xx19+0-x20+0-x21 +1-x220+0-x23+1-Xx24+0-x254+0-x26+0-Xx27+0-x284+0-x29+0-Xx30+0-x31+0-x32| 8 81 0]0[0]0 |0 0]O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x174+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x234+0-Xx24+0-x25+0-x26+0-x27+0-x28+0-x20+0-X30+0-x31+0-x32| 4 | 4 | 4] 4|0 |0] 0| 0] O0 0 0 4 0 0 0 4 4 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4a+0-x5+0-x6+1-x7+1-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx294+0-x30+0-x31+0-x32 | 4 4 4 4 0 0 0 0 0 0 0 0 0 0 4 4 0 0 0 0 0 0 0 0 4 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-x1+1-xo+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-X9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx10+0-X20+0-x21+0-x22+0-x23+0-x24+0-Xx25+0-Xx26+0-X27+0-x28+0-X20+0-Xx30+0-Xx31+0-x320| 4 | 4 | 4 | 4 | 4| 4| 4] 4]0 0 0 0 0 0 0 4 0 0 4 0 4 4 4 4 0 4 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x20+0-x3+1-xa+1-x5+0-x6+0-x7+1-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-Xx16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-X30+0-x31+0-x32| 4 | 4| 4] 4|0 |0]0)|0]O0 0 0 0 4 4 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4+0-x5+1-x6+1-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16 +0-x17+0-Xx18+0 X190 +0-Xx20+0-x21 +0- X220 +0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx20+0-x30+0-x31+0-x32| 4 | 4| 4| 4|0 |0]0]|]0] 4] 0 0 0 0 0 0 4 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+1-x5+1-x6+0-x74+0-x8+0-Xx90+0-x10+0-x11+0-x124+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-Xx27+0-x28+0-X290+0-x30+0-x31+0-x32| 4 | 4| 4| 4|0]0]0|0]|O0 4 4 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+1-x6+0-x7+1-x8+0-X0+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16 +0-x17+0-x18+0 X190+ 0-Xx20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-X20+0-x30+0-x31+0-x32| 4 | 4|4 | 4|0 |0]0]|]0]0]| 0 0 0 0 0 0 4 0 0 0 4 0 0 0 0 0 0 4 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-X10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-Xx16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+1-x290+0-x30+0-x31+1-x32| 4| 0| 4]0 | 4| 4|0)| 0] 4 0 0 0 0 4 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21+0-x22+0-x23+0-x24+1-Xx25+0-x26+0-x27+1-x28+0-Xx20+0-x30+0-x31+0-x320| 4 | 0| 4|0 |0| 0| 4] 4]0 0 0 0 0 4 0 0 0 4 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x20+0-x3+0-xa+0-x5+0-x6+0-x7+0-xg+1-x9+1-X10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32| 4| 0| 0| 4| 0|4 ]|4|0]0 4 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-X9+0-x10+0-x11+0-x12+1-x3+1-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32| 4 | 0] 0| 4 |4|0|0] 4]0 4 0 0 0 0 0 0 0 0 0 0 4 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x20+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+1-x11+1-x12+0-Xx13+0-Xx14+0-x15+0-Xx16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30+0-x31+0-x32| 4| 0|0 | 4| 0|4 ]|4|0]0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x1a+1-x15+1-x16+0-Xx17+0-x18+0-Xx190+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32| 4 | 0| 0| 4| 4]|0)|0] 4]0 0 4 0 0 0 4 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-%24+0-x25+0-x26+0-xo7+0-x28+0-Xx29+1-x30+1-x31+0-x32| 4 0 4 0 4 4 0 0 0 0 0 0 4 0 0 0 0 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0
T-xa+0-xo+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-Xx18+1-X10+0-x20+0-x21 +0-x220+0-x23+0-x24 +0-x25+0-x26+0-x2r +0-x28 +0-Xx20+0-x30+0-x31+0-x32| 4 | 4] 0] 0] 4]0]4]0]0] 0 0 0 0 0 0 0 4 0 0 0 0 4 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+1-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x%x16+0-x174+0-x18+0-x19+0-x20+1-x21 +0-x22+1-x23+0-x24+0-x25+0-%x26+0-x27+0-x28+0-x20+0-x30+0-x31+0-x32| 4 4 0 0 0 4 0 4 0 0 0 0 0 0 0 0 4 0 0 4 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+0-xg§+0-Xx0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+1-x18+0- X190+ 1-Xx20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x2r +0-x28+0-Xx20+0-x30+0-x31+0-x32| 4 | 4 | 0] 0| 4| 0]4|0]0 0 0 4 0 0 0 0 0 0 0 4 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0
1-x1+0-x24+1-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14a4+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +1-x22+0-x23+1-X2a+0-x25+0-x26+0-x27+0-x28+0-x290+0-X30+0-x31+0-x32| 4| 4| 0] 0|0 | 4]|0)| 4]0 0 0 4 0 0 0 0 0 0 0 0 0 0 4 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4+0-x5+0-x6+0-x7+0-xs§+0-Xx0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-x18 +0- X190+ 0-Xx20+0-x21 +0-x22+0-x23+0-x24+0-x25+1-x26+1-x2r +0-Xx28+0-Xx20+0-Xx30+0-x33+0-x32| 4 | 0O | 4 | 0| 0| 0] 4| 4]4 0 0 0 4 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4a+0-x5+1-x6+0-x7+0-x8+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-%26+0-x27+0-x28+0-x29+0-x30+0-x31+0-x32| 2 2 2 21000 ] 0|2 2 2 0 0 0 0 2 0 2 0 2 0 0 0 0 0 0 2 0 0 0 0 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0
1-x14+0-x2+1-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-Xx27+0-x28+0-X29+0-x30+0-x31+0-x32| 2 2 2 2 2 2 2 2 0 0 0 2 0 0 0 2 2 0 2 2 2 2 2 2 0 2 2 2 0 2 0 0 0 2 0 0 0 0 0 0 0 2 2 2 2 0 0 2 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-%24+0-x25+0-%26+0-x27+0-x28+0-X29+0-x30+0-Xx31+0-x32| 2 | 2|2 |2 |2 ] 2]2|2]|0 2 2 0 0 0 2 2 0 0 2 0 2 2 2 2 2 2 0 0 2 2 0 0 2 0 0 0 2 2 2 2 0 0 0 0 0 0 0 0 2 0 0 0 0 0
1-x14+0-x2+0-x3+0-x4+0-x5+0-x6+1-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28 +0-x290+0-x30+0-x31+0-x32| 2 2 2 2100 0]0] 2 0 0 2 0 0 2 2 2 2 0 0 0 0 0 0 2 0 0 2 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0
1-x14+0-x2+0-x3+0-xa+1-x54+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-x17+0-x18+0-x19+0-x20+0-X21+0-x22+0-x23+0-x24+0-x25+0-x26+0-Xx27+0-x28+0-x20+0-x30+0-x31+0-x32| 2 | 2 | 2|2 |0|0|0]|] 0] 0 2 2 2 2 2 0 2 2 0 0 0 0 0 0 0 0 0 0 2 0 0 2 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0
1-x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-X10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-Xx30+0-x31+0-x32| 2 | 2 | 2 | 2| 2| 2| 2| 2|2 0 0 0 2 2 0 2 0 2 2 0 2 2 2 2 0 2 0 0 0 2 2 2 0 0 2 2 0 0 0 0 2 0 0 0 0 2 0 0 0 0 0 2 0 0
1-x14+0-x2+0-x3+0-xa+0-x54+0-x6+0-x7+1-xs+0-xo0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-x17+0-x18+0-x19+0-x20+0-Xx21+0-x22+0-x23+0-x24+0-x25+0-X26+0-Xx27r+0-x28+0-x20+0-x30+0-x31+0-x32| 2 | 2 | 2|2 |0|]0|0]0]O0 0 0 0 2 2 2 2 0 0 0 2 0 0 0 0 2 0 2 0 2 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0
1-x14+0-x2+0-x3+0-x4+0-x54+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-Xx17+0-Xx18+0-Xx190+0-x20+0-X21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x290+0-x30+0-x31+0-x32| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Py = Group([()]) = 1
Py = Group([(7,9)(8,10)]) = C2
Ps = Group([(3,5)(4,6)(7,9)(8,10)]) = C2
Py = Group([(3,5)(4,6)]) = C2
Ps = Group([(1,2)(7,9)(8,10)]) = C2
Ps = Group([(1,2)(3,5)(4,6)]) = C2
P; = Group([(1,2)]) = C2
Ps = Group([(1,2)(3,5)(4,6)(7,9)(8,10)]) = C2
Py = Group([(1,2)(3,4,5,6)(7,8,9,10), (3, 5)(4, 6)(7,9)(8, 10)]) = C4
Py = Group([(3,4,5,6),(3,5)(4,6)]) = C4
Py = Group([(3,4,5,6)(7,9)(8,10), (3,5)(4,6)]) = C4
Py = Group([(?), 5)( ﬂG)( 8,9, 10)3 (7a 9)(87 10)]) =4
P13 = Group([(3,4,5,6)(7,8,9,10),(3,5)(4,6)(7,9)(8, 10)]) = C4
Puy = Group([(3,6,5,4)(7,8,9,10), (3,5)(4,6)(7,9)(8,10)]) = C4
Pi5 = Group([(1,2)(3,4,5,6),(3,5)(4,6)]) = C4
Py = Group([(7,9)(8,10), (3,5)(4,6)]) = C2 x C2
Pi7 = Group([(7,8,9,10), (7,9)(8,10)]) = C4
Pig = Group([(1,2)(3,6,5,4)(7,8,9,10), (3,5)(4,6)(7,9)(8,10)]) = C4
Pro = Group([(1,2)(3,5)(4,6), (3,5)(4,6)(7, 9)(8,10)]) = C2 x C2
Py = Group([(1,2)(3,5)(4,6)(7, 8,9, 10), (7,9)(8, 10)]) = C4
Py = Group([(1,2)(7,9)(8,10), (3,5)(4,6)]) = C2 x C2
Py = Group([(1,2),(7,9)(8,10)]) = C2 x C2
Py = Group([(1,2)(3,5)(4,6),(7,9)(8,10)]) = C2 x C2
Pyy = Group([(1,2),(3,5)(4,6)(7,9)(8,10)]) = C2 x C2
Pos = Group([(1,2)(3,4,5,6)(7,9)(8, 10), (3,5)(4,6)]) = C4
Pas = Group([(1,2), (3,5)(4,6)]) = C2 x C2
Py7 = Group([(1,2)(7,8,9,10),(7,9)(8,10)]) = C4
Pos = Group([(7,9)(8,10), (3,5)(4, 6), (7,8,9,10)]) & C4 x C2
Pag = Group([(7,9)(8,10), (3,5)(4,6), (1,2)(3,4,5,6)]) = C4 x C2
Py = Group([(7,9)(8,10), (3,5)(4,6), (1,2)]) = C2 x C2 x C2
P31 = Group([(7,9)(8, 10), (3,5)(4,6), (3,4,5,6)(7,8,9,10)]) = C4 x C2
Pyy = Group([(7,9)(8, 10), (3,5)(4,6), (1, 2)(3, 4,5,6)(7, 8,9, 10)]) = C4 x C2
Pys = Group([(7,9)(8,10), (3,5)(4,6), (3,4,5,6)]) = C4 x C2
Psy = Group([(7,9)(8,10), (3,5)(4,6), (1,2)(7,8,9,10)]) = C4 x C2
Pss = Group([(3,6,5,4)(7,8,9,10), (1,2)(3,5)(4, 6), (3, 5)(4, 6)(7,9)(8,10)]) = C4 x C2
Py = Group([(3,6,5,4)(7,8,9,10), (1,2), (3,5)(4, 6)(7,9)(8,10)]) = C4 x C2
P37 = Group([(3,4,5,6),(1,2),(3,5)(4,6)]) = C4 x C2
Pus = Group([(3,4,5,6), (1,2)(7,9)(8, 10), (3,5)(4,6)]) = C4 x C2
P39 = Group([(3,4, 576)(77 9)(87 10)7 (L 2)7 <Sv 5)(4a 6)]) =C4xC2
Py = Group([(3,4,5,6)(7,9)(8,10), (1,2)(7,9)(8, 10), (3,5)(4,6)]) = C4 x C2
Py = Group([(3,4,5,6)(7,8,9,10), (1,2)(3,5)(4, 6), (3, 5)(4,6)(7,9)(8, 10)]) = C4 x C2
Py = Group([(7,8,9,10), (1,2), (7,9)(8,10)]) = C4 x C2
Py = Group([(7,8,9,10), (1,2)(3,5)(4, 6), (7,9)(8, 10)]) = C4 x C2
P44 = Group([(?), 5)(4ﬂ 6)(7787 97 10)3 (la 2)7 (7a 9)(& 10)]) = C4xC2
P45 = Group([(?), 5)(4a 6)(7787 97 10)7 (17 2)(37 5)(47 6)a (77 9) (87 10)]) =C4xC2
Py = Group([(3,4,5,6)(7,8,9,10), (1,2), (3,5)(4,6)(7,9)(8, 10)]) = C4 x C2
Pyr = Group([(7,9)(8,10), (3,5)(4,6), (3.4, 5,6), (1,2)(7,8,9,10)]) = C4 x C4
Pys = Group([(7,9)(8, 10), (3,5)(4,6), (7, 8.9, 10), (1, 2)]) = C4 x C2 x C2
Puo = Group([(7,9)(8,10), (3,5)(4, 6), (3,4,5,6), (1,2)]) = C4 x 2 x C2
P50 = Group([(7, 9)(& 10)7 (37 5)(47 6)a (77 87 9, 1O)a (1’ 2)(3747 5a 6)]) =C4xC4
Py = Group([(7,9)(8, 10), (3,5)(4, 6), (7,8,9, 10), (3,4, 5,6)]) = C4 x C4
Psy = Group([(7,9)(8,10), (3,5)(4,6), (3,4, 5,6)(7,8,9,10), (1,2)]) = C4 x C2 x C2
Pss = Group([(7,9)(8,10), (3,5)(4,6), (3,4, 5,6)(7,8,9,10), (1,2)(7.8,9,10)]) = C4 x C4
Psy = Group([(7,9)(8,10), (3,5)(4, 6), (7,8,9, 10), (3,4, 5,6), (1,2)]) = C4 x C4 x C2
Ny = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
N; = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
N4 = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Ns = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ng = Group([(1,2), (3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2), (3,4,5,6), (7.8,9,10)]) = C4 x C4 x C2
Ns = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
No = Group([(L,2), (3,4,5,6), (7,8,9,10)]) & C4 x C4 x C2
Nip = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
N11 = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
N2 = Group([(1,2), (3,4, 5,6),(7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nis = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nig = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ni7 = Group([(1,2), (3,4, 5,6),(7,8,9,10)]) = C4 x C4 x C2
Nis = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nig = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Noy = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nooy = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nas = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Noy = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nos = Group([(L1,2), (3,4,5,6), (7,8,9,10)]) & C4 x C4 x C2
Nog = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
No7 = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nog = Group([(1,2), (3,4, 5,6),(7,8,9,10)]) = C4 x C4 x C2
Nag = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nso = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nay = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
N33 = Group([(1,2), (3,4, 5,6),(7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nys = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
N3g = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Ns37 = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nss = Group([(1,2), (3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nag = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nuo = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nyo = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nys = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2), (3,4, 5,6),(7,8,9,10)]) = C4 x C4 x C2
Nys = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nug = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nuz = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Nus = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ny = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nso = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Nsy = Group([(1,2), (3,4,5,6), (7,8,9,10)]) = C4 x C4 x C2
Ns2 = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Ns3 = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2
Ns4 = Group([(1,2),(3,4,5,6),(7,8,9,10)]) = C4 x C4 x C2




